AEFIES:

o TR Java £ 2H 5 E L,

o FIE Java KGR,

o HME Java =4 d4n,

o FfE Java kA 695 AEE,

TE R T 7 1 0 R R R 7 77 28 R S A0 2 B A Bl 26 2, e i — A7 R — > B
TR g AR BT AR B (ELAE S PR R, 8 B A LR AR [ 5 Y — St B L X AT LA
T Java H AR P — A2 0 3R — AL SRR R A el o A R AT Aoy — Fob 4 0 5 A
AT R RS

3.1 —HEHA

B — PR A R — E U RS A A R 2R B B e R AR S . M S B bt —
T Ef TR AR [F] 9 A2 o, X S AR A ] — 44 w44, MVBAL 4 R R ST IX e ], %l
I, AT AT i 3 51 R U5 ) B2 TG R, A KR 4 0 3R A T R A

3.1.1 FAK S

TE Java W BC2H 2 A R) 28 RO 5T 2R 9 4R 5, T LIAE OS2 07 A4S B, e — A Bl vb 8
LT ER A IR E— 1Y, BI— R0 b S RE A7 [] — o 5 0 216 28 4 B30 T A RE A7k 22 o K
S LA Bl RO — HLSE S A T LAMB SO B DR D B2 A A7 b I oy RN J2 T Y
JIt LABSCZL B A B AN RE A 2 2R 4 st 20 B S S — A RO s 5 R AR A B Y
I B2 B RS PR A

RO 2 AT DAPRAT — LR B — R B 45 40 A B2 o5 — A A7 ik, DRI B2 R
SR,

B 7 B AL ARy B SR RIBCH I 2 PR . 5 OB B IE A T

type[] 44

type 414 (1;
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P A T 1) v A X B e b, [ DR — 4B A AR iR e B T I 7 B2 44 i T
LAl DUBCFE 4l 44 ), il

int[] x;

float yI[1;

LIRAR BT —A int RBEECA x 5 — A float RIEIREA v Bl % = ARG
— 3 2 A ) K A 28 B ) T 3R 44 B B2 v K 44 14 i 4% R U AR e AR ]

3.1.2 HAWWMBHKL

TE Java R IT K v o Al B2 22 AR 2 % FLRE AT R0 a4 o 3302 TR O B gl R 5| 262, 7
WO U TS W — A5 2R R A AR &, OF AR B X RAR L, HB R A 728 B4 1] A A% %L
XS FE I Al DU A R U RV B T R . T B AL w0 i e R L R 44 4
I B0 R AR i B B S A R BR — R R R X AT R an Ak B B R Y
TCER 73 TC N 25 1) R AR 5 — J2 6 4002 44 R AT 00 46 1 » RIDRE B2 44 A e e g 51

e 3 W RR 7 2R RO AT WD AR AL BRIV S0 46 A RN Sl 250 46 AL L T TEDRE 3 2R X MR 7
Y HARTE 2

L. i ERIGiE
WS AR AL A AR Y 5% AR 0 0h AL RO I D 2 B A DU SR (R il RGP E B AL K
o AL ER S WU A AT MR 7 S, BAAOR BT

¥

int[] x;

x=new int[] {10,20, 30,40,50};

int x[]=new int[]{10,20,30,40,50}

X TR B SR AW Rl DL S B AR R B an T

int x[]={10,20, 30, 40,50}

bR RS AR AL TR P RIS S P S A R T R HZ B S
B oAb T R FUA AR SE SCRCEL Y (] I SR T SO 0 i A SRR (T 17 Ak B9 i 2S00 R Ak

2. BRI

S VIR RS R Y 5 R RGO N 45 T B K il R G O KL T R A BE A
B . B SR IR B AR BT

int a[l=new int[10];

R R A5 2 A K A P A [] BF  PE — R oA A S T G RO e T R B R R 10,
M TR TR int BUBCHE A, P B B T BN AE SR A 10 x 4 =40 AT
Ue A B A0 iR AL RO I G ER 2 MRS B 0 B 2 B B O BOA B OI AR (e, R DL A K dls
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KRIERIAE U 3-1 Fim,

F 31 BEEDEKINE
B 2w ® oIN A B 2k m /N ]
byte 0 double 0.0D

short 0 char 224 ,\n0000"
int 0 boolean false

long oL 5 H s 25 null

float 0.0F

3.1.3 HARBRE
1. Vil B
128

TE Java W B X R —A> length J&1E T RR B W L, T A 28 Y 1Y B0l #7024
AR BB B B ) iR s =S R
R0 4 . length

HARBIIT

int[] list=new int[10];

int size=1list.length;

B A i PRI BN DR A TARCRTD AR 0 IR iR ANAE int[] list =
B xR,

new int[ 107, list L0 RS 1 AICER, list[9 P25 10 Aoz, Hit . RITEA list A n A4>J0
R B2 list[0 25 1 ATTE M listin— 1M 25— ITRK.

SRR BRI T 0,80 R T 305 TR KL R BT AN 2 AT o 1 (H S A7 I Y
B RH . ArraylndexOutOfBoundsException: N SN %020 T R # A 58, N 2o 2l B 5 ) 59
2. Bl

HCLH Y 38 Py S 48 MR VT IRV v ) BN TR

(650 3-11 s s Ko 524

public class TestExamplel {

public static void main(String[] args)

{

int(]i=1{1, 2, 3, 4, 5, 6, 7, 8, 9, 10 };
}

for(int J = 0; j <i.length; j++)

{
System.out.print (i[j] +" ")

System.out.println();
for(int j = i.length -1; j >=0; j--)
System.out.print(i[j] +

{
Womy o
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3. Btk

B AR R A B T 3R e BRURR E B WU HE S . A S B 15 v 2 B0 HE T
B A Z P50 AR 8 —Fh B HE P Sk — B HET . R A N T L
BARABEI WA TC R BN 1) B E L B 1 R U, HE R AR G [ K b S T B A
FHABIEER L RO A e, LB BA P TR O 1k .

[%13-31 HEiHE)y.
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/R HITE R
int tmp = arrayl[jl;
array[j] = array[Jj+11;
array[Jj+1] = tmp;
}
//System.out.print (array[J]1+" ");
}
/ /¥ EN A8 HE PP 45 21
System.out.print ("F "+ (i+1) +"BHEF:") ;
for(int j=0; j<array.length; j++) {
System.out.print (array[j] +"\t");
}
System.out.println();
}
System.out.print ("ERZHEF M) ;
for(int i=0; i<array.length; i++) {
System.out.print (array[i] +"\t");
}
System.out.println();

EE . LT A Arrays.sortO) 7 iE AT A ST HE A

] 3-3 MR R R R R BT D E — MRV E B T RE -1
TR AT L AT IES, NILANZ a5 ECR array. length— 1, W2 IE A6l &5 LY
U B R EIR TR — DT R DURITT R A SN LA, G NIZ TG IR R array.
length—1—1i, W2 UCEBHAE BRG] RS IEFR NG 92 AR LR TC R AR K L HL
WERYHET TR K TE— e R MmN TR AL E

3.1.4 HABNRNEVE

KU 5] B I3 DA o M 2 72 o R — A B IR 3 W A 1R Ak (Stack) WA
T, B IR A S S BN G0 A At AR HE (Heap) N AE Y 19 5 252 D A7 25 0] 17 450 4 A2 it 7 ik
TR R E Mk 8 1 HE A P RORCL G R . — 4R RO AR A PR A A R AN A 3-1
JoR .

N7 bk
0x0060

¥EH4p | 0x0060
e RE

B 3-1 B4 77 il U
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TE Java v, B2H — HAD UG 58 10 B2 T 3R 04 A A 23 ) 23 E BI85 R, o s 7 7 X RE Bl
B TR WA T JC i U B K, (B P ] AR — e 7 B BT | R A AT
TR B T AR S . R3S A R L P TR R AN R S A 1 A
TR AR AT P RO 5 | R B4R 18] ] — S R R

(5] 3-4  H2H W A7t

public class TestCopyArray {
public static void main(String[] args) {
int[] x = {88, 62, 12, 100, 28};
/ /L F PR R AL 9 ) 2 ) A 2L, R 1 2 A2 1 7 b

int[] y = x;
System.out.println (x); / /3T EQIR B2 44
System.out.println(y); / /T ED B BB 4
x[0] = 22; / /MG IR EAH
System.out.println(y[0]); / /15 1) H A £ 28
}
}
R P 1B A7 45 SR AT LA & B, B4 7% & DR A7 1% 0 2 B0 & b ik . X 88
3 R (32 0 A B L S 0 R L B RS A | =
R RCZH 22 AT i 1) 2 B A B2 N A BT DRI AT T4 AR Y 02 ] — 1 % 100
AL 7 LR B3 i B 32 51 2 42 B S 0D 32 o o
(51 3-51 S iil%ad. Kl 3-2 4 80 s

public class TestExamplel {
public static void main(String[] args) {
int[] a = {1,2,3};
int[] b = new int[a.length* 2];
for(int i=0;i<a.length;i++) {
b[i] = a[i];
}
//int[] b = java.util.Arrays.copyOf(a, a.length* 2);
a=b;
print(a);
}
public static void print(int[] b) {
for(int i=0;i<b.length;i++) {
System.out.println ("5 "+i+"MICRMMEN "+b[i]);
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3.2 THEHA

1. 4
YRR TT LAR R LA A R TE R B W ROk R RS BRI . T AERCA B S L)
MRS — e R 26, B R A L R BT .

int[][] a;
int a[l[];

T YRR S SR BN T

a=new int [3] [2] /BN 3 > 2 () 4R

al0]={1,2} /IR B AR — A R
alll={3,4} /IR B AR AR
al2]=1{5, 6} /IR B AR = A R

FESLT —A 347 2 H0 M 4B B AR K 3, A A TR 2 — A
KEE 2 0 —4E 802 4R B oo R A XN 18 3-3 Frow

new int[3][]

_>‘ array[0] }——‘ array[0][0]=1 ] array[0][1]=2 ‘

int[][]

—>‘ array[1] }——{ array[1][0]=3 ‘ array[1][1]=4 ‘

_>| array[2] }_.l array[2][0]=5 | array[2][1]=6 |
B 3-3 HERd v ini

TR RS IR A s
a=new int[][1{{1}, (2,3}, {4}}
o #H
int[][Ja={{1}, {2, 3}, {4})
THBA M EA TR A 4R, A o K E AL a O AL

Al a.length 153708 ali 2 — N —4E 504 KT H ali].length /53],
(6] 3-6] —4e%e =2,

public class MatrixAddition {
public static void main(String args[]) {
int i, j, k;

/1B — A 4l



2. PR B

YA R AT R — A — AL DR AT IR B BT AR R, 3R 0 B 4L R
ARV RO O VA B T LR AR — A R AR M AR A TR b AL B
W25 Ry AN TC B — AR A

(65 3-70 5515 KA 5e 4.
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x[2] = new int[3];

x[3] = new int[2];
x[4] = new int[1];
/ /R B T A

for(int 1 = 0; i <x.length; i++) {
for(int j = 0; j <x[i].length; j++) {
x[1]1[J] = array[i][j]1;

}
//FTER Z 4R 2
for(int i = 0; i <x.length; i++) {
for(int j = 0; j <x[1i].length; j++) {
System.out.print(x[i][j] +"\t");
}
System.out.println();

}

G B AW IR AT 5 B array FE) W) I A B x,ﬁkF@ i & for I #5 Kt 45 14
B array BB TR U 25 98 4 204 x AR DU R R Jm il iR S Tor 4 P18 41 04 i 4
x BRI ER TR K

3.3 BAEATENSH

TE Java W, i) DU FECEATR 0 07 ¥ 00 2 BOR A% 3 K . e 1 B 2 B i T 7 L
I

(D) B S5 R B 2 )5 W 565 AN BR A8 WL 455 09 A BORVECZ (9 2 B2 AR 1) L (8 A
55 AT LA 45 1 B 0 3R R

(2) LB IR B A 5 AT EZAE S

(3) B AN N LS A3 1 2 M dik A 2 AR B T R A, LS A 2 B A
A TR B9 476 BT

(61 3-8 +5 45 & BA V91

public class ArrayDemo {
static float AverageArray(float al[]) {
float average = 0;
int i;
for(i = 0; i <a.length; i++) {
average = average +alil;
}

return average / a.length;



public static void main(String[] args) {
float average, al] = {1, 2, 3, 4, 5 };
average = AverageArray(a);

System.out.println("average=" +average);

xE MG

AR FENG Java HH PO 0, EEYHR T — 4E 80 O SRR Oy
BRI . B RS R A B A (], B B R B R R R i S
T I AN 53 BCAT AR 1) 47 fitf 25 6] — 5 BEAE X B W) 46 Ak 2 J5 A4 AT LA S [ S b i BolE T R .

=] i
— . R
1. SRBUBA tmp B9 BE I C ).
A. tmp.ArraySize; B. tmp.ArraySize() ;
C. tmp.length; D. tmp.lengthO;

2. ZEE X byte[ ] x= {11,22,33,—66}; Hor o<<k<T3, X x B o £ 45=n05| H
B ( ).

A. x[5—3] B. x[ k] C. x[ k+5] D. x[ 0]
3. B TR Z T LIAR & L 2 B B AT B A A TR ¢ )%
A, Z5[H] B. 2kl C. T#r D. Hihk

4o RFEAANE R I RSB0 1) 07 45 35 12 ( ).
A BB TTE B. /51 A C. KeH ik s ik D. LB B

N KAy

1 — A3l rh R Be A7 [a] —Fp ) E 8

2. B ot &K nl i vilal,

= Bl

1. Bk 6174 [ CHUT B —A 4 D80 4 DECFASREAR A B % 50 4 D E B4
G T8 AT RE B fe K EIORN AT RE B4 de /NEI, TR T 3 22 D) %) 25 R HE R 5 X i 25 (T A [ R 1 2
B.ma—EaiE 6174,
. R FTENZETE .
KR 100 B,
CH ATERINR M E M =,

DO

koo W

KK K%

KKKK
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